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| st (ii: General Engineering(MECHANICAL)

afteer (i A st

189) The mean effective pressure of an Otto cycle is the ratio
between- :
3ifer a1 Ay v ar fRa-Rew & @ @ g
farg?

A) the net work produced and B) the net work produced and

e §?
A) safe operation

TETE v

C} easy maintenance

FITH HegTErr

193) Boiler accessories are used to ensure:

Al IquTyET v w07 gl Tad #e & e e

B) automatic control
FaarterT fAg=or

D) improved performance
Tt forsaTET

the clearance volume the crank case volume
oo Teael w3 Feeet fevaer & 3T
T AT # & Imaae

C) the net work produced and | D) the net work produced and
the eylinder volume the swept volume
Io0e PEw w1 A Sceet friaer rd 31T
Aeele 3T RIS AR

190) Torsional rigidity of a solid circular shaft of diameter 'd’ is
proportional to:

=1 'd' & a1 Fearer dhore @ tae Tear e s
Ferer

A) d B) 1
d2
o)

191) Continuity equation for a compressible fluid is-
ST ool T Wicled THIHOT 4T &7
(A=area /| 819, V=velocity / 2GTAT , p=density / Gecd)
A) MMVi=Az V2

P p2
C) AMMVi=Az2V2

|B] p1A1 Vo= P2A2V2|

D) prAr=paAz
Vi V2

192) A fluid is said to be ideal, if it is-

T o 5T e 9T I TG T AT &7
A) Inviscous and B) Viscous and
compressible incompressible
Y HIT EdE 2 3wl
C) Inviscous and D) Viscous and compressible
incompressible SaTsT mm

194) The process of making hollow casting of dired thickness
by permanent mould without the use of cores is known as-

IS & ST R T Fure wie g aife A

Fr GrEe TS S R wiaT T FRg i
A) pressed casting B) centrifugal casting
aifad o HTHET T
C) die casting D) slush casting
&1 gTS HadF TS

195) Crater wear takes place in a single point cutting tool at the-
Tehel TIEE aTel et 30T 3 feverdor e gien &7

B) fuce s worm

) tip s 3l

A) side rake / TTYE Yo
C) fank /g
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Test (iii): General Engineering{MECHANICAL) qiveroT (i) S ghifRadimitie)

196) A heat engine is a device that operates on a thermodynamic |199) During the opening of a valve in a pipe line, the flow is-

eyele- 1Y WS H afed & o & ST 918 ST A
A9 S5+ Tk WA WA § S e 17 i v o R e " g
D c; Steady / FEUT ;; Free vortex | Herd HTH
A) to convert the heat B) to produce useful work SR i
supplied into complete from the heat received
work energy under from a source and also 200) The included angle for the V-belt is usually-
reversible conditions. rejects the remaining heat e ) b
gears £ S T to the sink under all VAR & v ; e
Rt Rt & gt conditions. A) 60%10 80° B) 30010 40°
&1
S Y ey & ot ST 0°H 30° 3009 400
ITAN I 30w A C) 20°t0 30" D) 10%1020°
o ’ 93r 300 0
T 9 =37 20093 107§ 200
Teufaat 7 fife # sraey
C) to produce useful work D) to convert the heat
from the heat received supplied into complete
from a source and also waork energy under all
rejects the remaining heat conditions.
1o the sink under mﬁ,@.maﬁ

reversible conditions.

Rl vy & e sy o reuferat 3 ol
S S Ay SN A Saelel HE)

R A 3 @ R
FoaTaredt 7 e A et

[197) Consumable electrodes is used in-
|9 Y getarete & W e i smar iy

A) carbon arc welding B) submerged are welding
T 3 Afedar AT 3 afesa

C) TIG arc welding D) MIG arc welding
& 3 Sh Ik afedar TH HTS S I Afes

198) In ammonia-water vapour absarption refrigeration system:
HENDT St aro TNwoT GafcrT qomer 7

A} both ammonia and water | B) both ammonia and water
are refrigerants are absorbents
A A = gt e 3 = St
EAIGETIGEHS i g &

C) ammonia is the refrigerant |D) ammonia is the ahsorbent
and water 15 absorbent and water is refrigerant

e wehas gar i FAfoar s g
3T St s AT R S mefas g
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Test (iii): General Engineering{MECHANICAL)

afterer (i) e getfatimitin

147) The length of the divergent portion of venturimeter in
comparision to convergent portion is-

e 3% FRITEY 1 S gevert 3 ey 37T B v
Tttt g1l €7

A) Less B) More or less depending on
& capacity
&THCT & MR T 38w
qr A
C) Same D) More
T G0

148) Which of the following theorem is used for the equilibrium
of the body applied with three concurrent coplanar forces-

T HaT TAT FT § ATy aged [E fr aemaer
¥ forw Pr=rfoiae 3 & Sa- v & v B
&

A) Hamilten theorem

B) Lame's theorem

tiieea Wi A
C) Pythagoras theorem D) Varignon's theorem
EUFIRE T gt T

149) According to Indian Standard Specifications, a plain carbon
steel designated by 40 C8 means that the percentage of
carbon content is-

AR A fRfAE e F wmgar, 40 C8 garT Afis
FHTH T SEAT 1 3 B oy e 3iyr s winea i

A) 0.04 B) 0610 0.8
0.6 ¥O.8 TF

C) 03510045 D) g4t 06
0.35 & 0.45 TF 0.4 ¥0.6 TF

150) Newton's law of viscosity is a relationship between-
ST T A 1 Forars s v 7 ey &7

A) Rate of Shear strain & B) Shear stress & velocity

i S HTEOT HiEe I
Howqor T Freg sl it
ATHTA
C) Pressure, velocity & D) Shear stress & rate of
temperature, Shear strain
&1, T 3R arAe HaEqoT Hfdaer At
Ieaor Agia frey

151) A solid shaft transmits 44 kW power at 700 rps. Calculate
the torque produced- (in Nm)

T B % 700 rps 9T 44 kW AT dala Far )

3w HTGUT & (Nm ) 9iema= Sifee
B) 600
C) 60 D) 100

152) A heat engine receives 1000 kI of heat and produces 600 kI
of work. The amount of heat rejected in kJ and the efficiency
percentage of the engine, respectively will be-

AT EF 1000 kI FSAT 91T FLam & 31T 600 kI w1
I el S HTSGd ISAT & kI & A i S

getan wiaera s fraar g
A) 400,40% B) 600,60%
C) 600,40%

153) When the load on engine increases, it becomes necessary to
increase the supply of the working fluid and when the Toad
decreases, less working fluid is required. The supply of the
working fluid to the engine is controlled by a:

T STt W 1S AE ATAT § ol SN el I qoolis
AT HTETF B 11 & {512 olYe e S & ar e
T AR T IV E1T BE e ST ot

& wears frad Rafa e g
A) Govemor B) Fly wheel
CICGIY aifeTee T
C) Meyer's expansion valve D) D-slide valve
AT T VR aed D-FoTSS aleq

154) Leaf springs are subjected to-
et FAE e e gl &7

A) bending stress / =1 B) (ensile stress / @

BIGEC CICCE]
€) compressive stress / D} shear stress [ HIETUT
e wfdew 7

155) The cone angle of a pivot bearing in increased by 2%. The
maximum load carrying capacity of the bearing will increase
by-

Frow T F IF PO R IR 2% F@mT A E

AT 6 12 A a7 e ag S
A) 1%

C) 05% D) 0.05%
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Test (i): General Intelligence and Reasoning

o (i) wrEe gt 3T ok

4T) From the given answer figures, select the one in which the
question figure is hidden/embedded.

& ¥ IR anpfaat @ 3w IR el @ g
ot wm sl AR

A) B) D)

~C) |

48) Hospital is 12 km towards east of Rupin's house. His school
is 5 km towards south of hospital. What is the shortest
distance between Rupin's house and school?

ITIATS T & O & 9 & T 12 km B IHET TR
Fegae & gffior ff 3R skm B FRF & WAk
TR & &g @98 &7 gff ¥ &

'A) 2km
C) 17km D) 16km

49) In the given figure, the circle stands for intelligent, square
for hard working, triangle for Postgraduate and the rectangle
for loyal employees. Study the figure and answer the
following questions.

7Y &y v 3rpfer 3% et bt 319 aRraArer, ot v e,
s 7 Taaicat MR 3 FT arER FAEr

dETer F rerTe w1 AR efaf@a v wrserd)
Employees who are intelligent, hard working and loyal but
not Post graduate are represented by:

T it g, afvas ¥R awer &, g
AP ARl & 3¢ e &9 & i e smeem

50) If a mirror is placed on the line MN, then which of the
answer figures is the right image of the given figure?

7f T YT I MN 3ET 9K 1@ S & 9 e
pEt A ¥ A e T s drad iRt
2t

far

NREE

11
D)
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Test (jii): General Engineering{(MECHANICAL)

v (jii)mmer SRt

139) Rotary compressor is best suited for-

A) small quanity at high B) large quanity of air at low
pressure air pressure
3 g a1 9T FH AT rgEwag

rfer A

C) large quanity of air at high |D} small quantity at low
pressure pressure air
Fed & 91 arg @1 Hidw P TEag W EA
HIET ESIELE

140) The Otto cycle thermal efficiency, with usual notation, is
given as, where 'r' is compression ratio and "y is the adiabatic

index-

et T a9 SETAT WHET Sideiea & Ay H muiie
& ST &, TeT 7 TS e § 3Ny e g

&7

ey

A) B)

)

D)

ne=l-r'

€

141) The degree of reaction of a steam turbine is the ralio between

the enthalpy drops in-

AT exaTEer £ vRAfE S el e o S de

T AT 7
A) moving blades and that in
the nozzle
T et iR Aee

C) in the nozzle and that in
the stage

Ftater 3 I e

B) moving blades-and that in
the stage

oI =AEt I e

D) in the nozzle and that in
the moving blades

Arster # 3 T =St
#

142) A micromanometer with inclined tube is called as-

T AT AT AT A F F Fad §

A) closed tube manometer
g Ao HATHET
C) inverted manometer

e H Henfes

B) differential manometer
T AR
D) sensitive manometer

AT AT

143) In case of a circular section the section modulas is given as-
Fearar aivese £ f2uf &, ofiede A $ Puife
T s &7

A) nd B) zd®
64 16
€) zd? D) nd?
16 32

144) Meta-contric height is the distance between-

HTooTT A Furs e fra frefr iy
A) meta centre and centroid | B) mela centre and centre of
Freord g 3 e gravity
Imeera e HR Ioed e
C) meta centre and centre of D) meta centre and water
buoyancy surface
3o g 3R 3Tewa d 3 o waE
SecoTaEaT F

145) Which of the following statements regarding 'mitre gears' is
correct? These are employed for

A Rt FEEu A FRwaE e e Y F
e wame s )

A) equal speed B) great speed reduction
A A i i 7 w6
C) minimum back-lash D) minimum axial thrust
FEIH TYT HEHTU TR e oy

146) The difference between the temperature of the superheated
steam and the liquid-vapour saturation temperature at the
corresponding pressure is known as-

FHET &TE I Heraed 19 & araaAre 3 a<er arsy
T AT 3 ST 30T F F4T Faa 87
A) the approach of superheat
e arg #1 3unTH
C) the degree of superheat
fer an i wife

B) the limit of superheat

ey ara &
D) the extent of superheat

e a1 A
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Test (iii): General Engineering(MECHANICAL)

126) The minimum required centre distance of two mating spur

gears is decided based on:

21 el T it i mgeran 3t Avo gl e

HUR 9T e i s gy

A) Surface compressive
strength of the gear
material

fr st & 8
wftee e

C) Bending strength of the
gear material

fir awEl & d5=
A

B) Ultimate strength of the
gear material

fora wmaht fr aea
aHE

D) Fatigue strength of the
gear material

gy wreal fr sifar
aIciEmi

127) When a vertical wall is subjected to pressure due to liquid on
both sides, the resultant pressure is the of the two
pressures.

o & FeaTeR EaR et arval o olel F ST EE &
et el & o oot g gt gt T am g 7

A) Difference B) Arithmatic mean
3R fOTeiT ATer

C) Sum D) Geometric mean
T SaTfadr AT

128) Water at 20° C is flowing through a 20cm diameter pipe.
Take kinematic viscosity of water at 20° C= 0.0101 stoke.
Assume that the charges from laminar to turbulent at
Re=2320. The critical velocity will be-

U 20cim ST AT 9129 # 97T 20080, 92 TaTed 81 W 8]
20°%, aF or=r Y g AFEF I = 0.0101 TEF § AR
ahfore s Fadrr & Rragey vame & afeds Re=2320 8
swifer 497 fae= glom?

A) 11.17 cm/s B) 1117 emfs
C) 1117 em/s D) 0.117 emfs

129) When the Sleeve of a Porter governor moves upwards, the
govemnor speed-

o Tt 91e Taeie Y AT 9T T AR g A araet
#raray

A) First increases & then B) Increases.
decreases. AT
e dod! ¢ T Hedl E

C) Decreases. D) Remains unaffected.
T ST HUAE W g

iy (i) E Sl )

130) Kaplan turbine-

A) has adjustable runner B) is used where high head is
blades. available,
SHH WARISAT T THHT T a7 TR
ForeT & W R sar AT & A 3T Earear
| IqFe gl

C) has inlet adjustable guide D) has poor part-load
vanes. efficiency.
TEI AT AR ZHH 3o HiRF HT
fA& R weret &t waer TETT BT &
o s B

131) In an isothermal process, the heat transfer is-

FHATY AT &, F5AT 31T Reder glar e
A) more than the work

B) equal to the work transfer

ranehec T AT & AR
T HeoT 3 o
C) less than the work transfer D) less than or equal to the
F T H work transfer
T IHEROT F AT
qET

132) Black colour is generally painted on-
T T AT e 91 B srar &

A) None of the options B) oxygen cylinder

R Awest A a w9 FiarerarT Reist
et

C) acetylene cylinder D) hydrogen cylinder
et Mdst REEECATC e
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Test (jii): General Engineering(MECHANICAL)

afierer (iil):Fa AEah{aE)

133) As per first law of thermodynamics, when any system
confined within a boundary is carried through a series of
operations such that the final state is same as the initial state,
then:

araarferehr & v e & rgan o W & diaw
gt e farew st w8 St garo s v o
i e ¢ T sifaw feufe e Rufa seiv g, &

A) the net work transfer is B) the net work transfer is

136) The purpose of chaplets is-

lower than the net heat
transfer

equal to or higher than the
net heat transfer

raw F 1 stator Faw foas Fd sraor Faw
ISHT 0T & FH grar ISHT HTTOT & araT a1
y] HiETF AT 8]

C) the net work transfer is D) the net work transfer is
higher than the net heat equal to the net heat
transfer transfer
Prae S 3T Faer forae 1 3reRoT fPae
IEAT 3T & HiOE FOHT HATOT & S g
grarg| 8l

vapour:

SR (HIeE) FT 9 T i
A) 1o join upper and lower B) to support the cores
parts of the moulding box FrE ¥ aEEET T
T ST & FO AT
ey HT R A
for
C) toprovide efficient D) just like chills to ensure
venting directional solidification
ZaT Harae & faw feamears ST w1
gfma s s
it & 5=

137) As the pressure increases, the saturation temperature of the

S-S 1 Agar ¥, 9T # Safod araHe:

A) increases

qEATE

134) Which of the following bearings can take large thrust loads:
fafle & & ta-ar 3ot wfbe goie & & e

&

A) Self-aligning ball bearing B) Angular-Contact bearing
Faa: @iET de FaiET Fofrg d@oF aafiE

C) Filling-Notch ball bearing | D) Decp-Groove ball bearing
sRoTaiER A dafr | gy ara ate e

135) The relationship between tool life (T) and cutting speed(V)

is expressed as, where n and C are constant.
IusoT FEET) IR F AT (V) F i FE =@
frw we geifar sar & @Et o 3R o R

A) v T=C B) T-C
v

D) y=c
T

C) increases first and then
decreases

gge Fgan & AR ey
aeard

B) decreases first and then
increases

g gean & HiT AT
Y

D) decreases
Hedr

138) Regarding journal bearing under film lubrication condition,

which of the following statements is correct?

Frictional resistance is:

(o) Figa & TR d s el s aeu &

FlT-HT 2T HET &7
T g

A) inversely proportional to
the viscosity of the
lubricant.

TR T 3T &
gl Fgaa A gard)

C) directly proportional to the

pressure.

Y 2 5 g v

8

B) independent of the area.
Tt gv i ST g

D) proportional to the speed
of rotation.

TS 7Y & Fgaa i
RiGIE
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Test (iii): General Engineering(MECHANICAL)

qdtaror (i} gt

156) For the same output, same speed and same compression ratio
the thermal efficency of a two stroke cyele petrol engine as
compared to that for four stroke cycle petrol engine is-

AT T AT 1T 3R e e e & e 2
T Tk T Soted ohl AT GETCT 4 FEieh Toh Ug! Fotet a1
T A FRaet g g

c) more / ¥f0F

B) same as long as
compression ratio is same

/ FdTSST HFUT & AT
D) same as long as output is

same / 9T & wa=

157) Volumetric strain of a rectangular body subjected to an axial
foree, in terms of linear strain e and poisson’s ratio p |, is
equal to-

i@ A o 3% a3 p & e i e
& 3relier 3maareRie Jidh By s e R auat
gl

A) e(l-p) B) (13

3

158) What are the equlibrium conditions to be satisfied for a
particle applied with a system of non-coplanar, concurrent
forces?

FEAT,ERa aet & Forres & AR waEd o7 & o
Fil7- 2 armaryr Rufaa ofr $ir s &2
A} IF=0 & ZF,=0
C} IF.=0, EFy=0, IF.=0,
EM=0, EMy=0& IM=0

B) IF.=0, ZFy=0 & ZF:=0
D) ZFe=0, ZFy=0 &
E.Mz,axis =0

159) Air refrigeration is preferably used in aircrafts because-
argaTHt 7 arg T & T i adrrar @t & S

B) its weight per ton of the
refrigeration is low

A) its uses air that is available
in plenty in the

s | g e e
T I FT W FATE A TR AE
St argFse # agarad J
AT g &
C) it has high COP D) itis cheaper
T g Wi g TETET AT E

160) Sub-cooling in a vapour compression cycle-
arsT HIE weR # IULiee o ST &2

A) decreases the required B) increases the required

work and refrigeration work and refrigeration
effect effect
I SR 3T aehae AR F 3T wefae
T I G 8 T FT T2 8
C) increases the required D) does not affect the
. work and decreases the required work and
refrigeration effect increases the refrigeration
3TN % Y AT ¥ effect
. 3t sreere s ST T i S
—— et &L I Tef
THTE T 5T §]

161) I is the specific weight of the liquid and 'h' the depth of
any point from the surface, then the pressure intensity at that
point will be-

A 'w' o &1 Tafiee g & 3 0 wag F R g
Tk &, o zre e 3§ g w e

A) h B) w
C) : -Iilnh'

162) Enthalpy is calculated as the-
Uit T Ao T ST &

A) difference between the
internal energy and the

B} sum of internal energy and
the product of pressure

product of pressure and and density of the system
vc‘rlume of the system Halw s eE ¥
il Fat iR em & B
maﬂtﬁﬁw & 3 anr
A & A e
C) sum of internal energy and| D) difference between the
the product of pressure internal energy and the
and volume of the system product of pressure and
AR AT A eE & density of the system
e e & At Fa A TEH
g 3earg 3 ﬁ!m F
Heted & e 3w
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Test (iii): General Engineering(MECHANICAL)

e (i) A Sl

1B3) The expansion precess in the throtting deviee of a vapour
compression cycle is-

s HEe e i el 3 I van afear e
&

A} isentropic process B} isothermal process
# Ui igar waard it

C) isenthalpic process D) adiabatic process
TH e wf T T

164) The coeflicient of discharge of an orifice varies with-
HIE 1 s i Bed e e i

A) Froude number B) Mach number
W33 3 #F 3w

C) Reynolds number D) Weber number
oS 3 Ao HF

165) Orifice meter is used for measurement of-

gAY & waer s s ¥ e Bear s

| B) Rate of flow / ¥aTg #r a3
D) viscosity / 9@etaT

A) pressure / ald
c) Temperature { TTIHTT

166) For high speed engines, the Cam follower should move with-
Fea A arer g5t & o, &3 et i SR T

arge?

A) Cycloidal motion

B) Uniform velocity

eI A FTH

C) Uniform acceleration and D) Simple harmonic motion
retardation . T gl A A
AN o1 #N A

167) A flow in which each liquid particle has a definite path, and
the paths of individual particles do not cross each other is
called-

TR VAT # Il oie ST U farad 9 ger & 3t
-3 0T & 9 Uah SEY FY 9N FE S, 3 IaTE
I T FE 67

A) Steam flow B) Uniform flow
I g A 58

C) Turbulent flow D) Stream line flow
Taegey- sare T T Farg

168) At triple point, there are?

faR g aaraa
A) three states of matterin | B) three degrees of freedom
it (i T fr e P
AraTEET 7 9erd
e Fufaar
C) three constant D) three or more modes of
thermoedynamic properties energy transfer
it T AT g 35t Heor fr el ar
yfos Rfear
169} Froude number is the ratio of inertial force to-
TRI3E 375 S1ged aet HIT frmea seguma &2
A} Surface tension | SR B) Elasticity / SeaTEm
GLGl
€) Gravitation Force / 75| D) Viscosity / amar
gl

170) Lowering the evaporator pressure in a vapour compression

cycle:
e HYISA T 3 AT g1 o A e o
A} decreases the required | | B) increases the required
work and increases COP work and decreases the
3w Tear § AR el
UG B IR 1 agar g 3
FrH g )
C) increases the required D) decreases the required
work and COP work and COP
oTeYa T 3wy ITaE HR 3T i
TG ] e

171) If a re-heater is added to a Rankine Cycle, then usually:
Tfe; ¥eret o 3 GAaTIE ST ST § o aeeae

A) the net work and
efficiency increases

B) the net work and
efficiency decreases

foraa & st eeran @ o 19 s gerar ae
EiGiE smehr &

C) the net work increasesand D) the net work remains same
efficiency remains same and efficiency increases

e w1 @ Far ¥ T w1 A & W
T gavem e & WA AR s Ee i
gl
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Test (iii): General Engineering(MECHANICAL)

SR (i) A g et

172) In manometer a better liquid combination is one having: 1

A=t & , d5aT ove ule g% g &, St

A) lower surface tension B) high viscosity
HH IEG delet & N0 =T 8

C) low viscosity D) higher surface tension
3 YA &1 AT o T g

173) Two spring of stiffness k1 & k2 respectively are connected in
series, what will be the stiffness of the composite spring-
FAM: ki T ke BN Toar arell & wATTeT & s@er &

FET A F O Tgad FAE A wgar e gef?

N ik B) k=kitks
k1 + k2 ki kz
C) k=kikz D) k=ki+ ks

174) Any change in load is adjusted by adjusting following
parameter on turbine-

HIT # g arer aftads &1 aAres a9t
Tl g e 1 gamfae =0 B o
-yl
B) Blade velocity / & dar
€) Absolute velocity / iter P) Net head / U gaear
AT

175) One directional solidification in casting can be improved by
using-
ZoE # RyToHe ST # gUR e weT S
T s 2

A) chills and padding

B) chills and chaplets

erthers 3k & I
C) chaplets and padding D) chills, chaplets and
A padding

76) A body of mass 5 kg accelerates at a constant rate of 2mf s?
on a smooth horizontal surface due to an external force
acting at 30° with horizontal. The magnitude of the force is-

5 Fora geamneT s 300 &fFe o afr aelr s & R0
foreret BT erraer 9w 252 iy e & O caor aa

%, o @ &1 afr fee g
A) 10sin30N B) 10 .
sin 30 N
C) __10 D) 10cos30N
cos 30N

177) In a centrifugal pump casing, the flow of water leaving the

impeller is-
AT TP FIHT & A F gl § Rt are anlr
1 HETE ST 21T 87

A) Free vortex motion

B) Rectilinear flow

o AAF A Ercesip oG
C) Radial flow D) Forced vortex motion
v vaw ot sl ot

178) An ideal flow of any fluid must fulfill the following-

Tt i e & e et ware & MeeRfaa 7 3 redr
9 et o

A) Newton's Law of viscosity B) Boundary Layer theory

YA & T F1 e TR gl
e

C) Continuity equation D) Pascal's Law
Ay FHRTOT TR & AgH

179) The efficiency of a centrifugal pump is maximum when its
blades are-

RET T Y ZATAT 39 THY it a1 f S 3us
g ?

A) Bent backward,

B) Bent backward first and

S EF I then forward.
e ek AT R e
gHRead
C) Bent forward first and D) Bent forward.
then backward. A EFATY
Tge A7 AR R e
ghoay
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Test (iii): General Engineering(MECHANICAL)

wiitr (i) s gt

180) A structural member subjected to an axial compressive force
is called-

i gdiEs g & Hille BaATcHS OeE & T Feg
Fyd

©) Frame o
<) Beam / @1 D) Column / Hier#

181) The speed of an imaginary turbine, identical with the given
turbine, which will develop a unit power under unit head, is
known as-

&1 1S ExaTEe Y THET FeAF a8 o gfae
ZareTan & ther gffe ufed sooee el & sEdr A
T Fgel 7
A) Abnormal speed /
AT AT

€) Unit speed/ gfere a1fy

B) Normal speed / FTATT
G

D) Specific speed / T
afa

182) Why are gear teeth made harder?

Frar & g e =it e A
A) Toavoid pitting B) To avoid abrasion
T F Herdor Y ey
C) To avoid wear D) To avoid tensile strength
fererdor & et e A ) Uy
183) The Benson boiler has-
A Aot 7 T glar 87
A) no steam drum B) a vertical steam drum
HIE HIT ZA AL BT T StalHR 6T 5
C) an horizontal steam drum D) two drums-one for water
v S T g and another for steam
&1 EH-UF 9T & A
R T o & faw

184) The chemically correct stoichiometric ratio for petrol is-
gt & for rarafers wfte & mé anfeas ygara i

A) 15:1 B
C) 18:1

14.8:1
D) 11:1

185) Two shafis, one solid and the other hollow, are made of the
same materials and are having same length and weight. The
hollow shaft as compared to solid shatt is-

ar dhwe v 3 3 v grEen S wEE serd g e
IoTehT ars MY aore it wae dio dhve dr gaer &

wrarer $hoe dar g
A) More strong B) Have same strength
s Togm FHA WA &
C) Lessstrong D) None of the options / f&T
S T Ryt o & 18 gt
186) The Stress-strain relation of the Newtonion fluid is-
e o # sfoae gl wdu e
A) Linear B} Hyperbolic
fas EiGetcrine
C) Inverse type D) Parabolic
HA BT EnEEIEED

187) The centre of gravity of a complex link in a four bar chain
mechanism will experience-

A &3 aTel O & Wiy TF F e Sz Frgem

A) Only linear acceleration ~ B) No acceleration

Faw 1@ @ TS LT TET

C) Both linear & angular D) Only angular acceleration
acceleration Frae Frof sRoT
1 va wofrr gat
oo

188) The ratio of actual measured head to head imparted to fluid
by impeller for a centrifugal pump is known as:

Foehal 959 & fow areafas Ardr g gateaan it woies
AT T 1 &) T Zaear & HATA B 9T Fed &7

A) mechanical n B) manometric v
B ECTE HArfEE

C) volumetric D) impeller
HIRIETATIT 7 oUileeR n
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